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	Level
	Skill
	Subskill
	Item #

	1
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.1 Design Experiment [99073]
	D100478

	2
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.1 Design Experiment [99073]
	D100482

	3
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.2 Select Experimental Procedures [99074]
	D100997

	4
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.2 Select Experimental Procedures [99074]
	D102670

	5
	C  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.3 Translate Data [99075]
	D110788

	6
	D  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.4 Cause and Effect [99076]
	D100505

	7
	C  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.5 Experimental Error [99077]
	D103464

	8
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.2 Evaluate Protocol [99079]
	D98833

	9
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.3 Intented vs Unintended Consequences [99080]
	D100538

	10
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.4 Adaptive vs Assistive Bioengineering [99081]
	D110358

	11
	B  
	Hard  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D50571

	12
	A  
	Hard  
	LS: Interdependence  
	SPI 0607.2.2 Matter & Energy in Ecosystems [99083]
	D82205

	13
	A  
	Hard  
	LS: Interdependence  
	SPI 0607.2.3 Biotic / Abiotic [99084]
	D81678

	14
	C  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.1 Components of Universe [99086]
	D102980

	15
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.2 Distance and Appearance [99087]
	D110634

	16
	D  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.4 Explain Moon Phases [99089]
	D101807

	17
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.5 Tides [99090]
	D53434

	18
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D52356

	19
	A  
	Hard  
	ES 2: The Atmosphere  
	SPI 0607.8.2 Solar Energy and Wind [99094]
	D110368

	20
	C  
	Hard  
	ES 2: The Atmosphere  
	SPI 0607.8.3 Ocean Currents [99095]
	D110638

	21
	D  
	Hard  
	ES 2: The Atmosphere  
	SPI 0607.8.4 Make Weather Predictions [99096]
	D110654

	22
	B  
	Hard  
	ES 2: The Atmosphere  
	SPI 0607.8.4 Make Weather Predictions [99096]
	D82245

	23
	B  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.1 Types of Potential Energy [99097]
	D110400

	24
	C  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.2 Potential and Kinetic [99098]
	D59597

	25
	B  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D57535

	26
	C  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D103492

	27
	D  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.4 Conservation of Energy [99100]
	D111287

	28
	A  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.12.1 Circuits [99101]
	D110394

	29
	C  
	Hard  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D85371

	30
	C  
	Hard  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D85478

	31
	C  
	Hard  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D84349

	32
	A  
	Hard  
	LS: Interdependence  
	SPI 0607.2.4 Describe Major Biomes [99085]
	D103125

	33
	A  
	Hard  
	LS: Interdependence  
	SPI 0607.2.4 Describe Major Biomes [99085]
	D100946

	34
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.1 Components of Universe [99086]
	D88940

	35
	C  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.5 Tides [99090]
	D84604

	36
	C  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.5 Tides [99090]
	D84610

	37
	C  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D84583

	38
	B  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D84570

	39
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D84563

	40
	B  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D81681

	41
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D81679

	42
	B  
	Hard  
	ES 2: The Atmosphere  
	SPI 0607.8.1 Heat Convection in Atmosphere [99093]
	D110362

	43
	C  
	Hard  
	ES 2: The Atmosphere  
	SPI 0607.8.4 Make Weather Predictions [99096]
	D101776

	44
	B  
	Hard  
	ES 2: The Atmosphere  
	SPI 0607.8.4 Make Weather Predictions [99096]
	D101777

	45
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.2 Select Experimental Procedures [99074]
	D101408

	46
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.4 Cause and Effect [99076]
	D100928

	47
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.4 Cause and Effect [99076]
	D102281

	48
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.1 Test Prototype [99078]
	D110354

	49
	A  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.3 Intented vs Unintended Consequences [99080]
	D101296

	50
	B  
	Hard  
	LS: Interdependence  
	SPI 0607.2.4 Describe Major Biomes [99085]
	D81557
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	Question 1 of 50

	In an experiment that uses a control or control group, what is left unchanged?

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	the dependent variable

	[image: image2.wmf]  
	B.
	the independent variable

	[image: image3.wmf]  
	C.
	the tested object

	[image: image4.wmf]  
	D.
	none of the objects
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	What would you expect the trend line of a graph to look like if it were showing average global temperatures for the past 100 years?

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	parallel to x axis

	[image: image6.wmf]  
	B.
	ascending

	[image: image7.wmf]  
	C.
	descending

	[image: image8.wmf]  
	D.
	parallel to y axis

	 


	Question 3 of 50

	A stream survey evaluates the health of a certain stretch of water. Which would be the best data to combine in order to get an overall quality assessment of the stream's health?

	 
	 
	 
	 
	 

	[image: image9.wmf]  
	A.
	data from two consecutive summers

	[image: image10.wmf]  
	B.
	data from the middle of all four seasons

	[image: image11.wmf]  
	C.
	data from the beginning and end of winter

	[image: image12.wmf]  
	D.
	data from end of spring and fall
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	Why is mixing ammonia with bleach dangerous?

	 
	 
	 
	 
	 

	[image: image13.wmf]  
	A.
	It releases chlorine gas.

	[image: image14.wmf]  
	B.
	It causes rust.

	[image: image15.wmf]  
	C.
	It makes carbon monoxide.

	[image: image16.wmf]  
	D.
	It produces gamma rays.
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	Jonathan is working on a project about genetics. He surveyed his classmates to find out what percentage of students have a certain eye color. He made this graph to show his data: 
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	What percentage of his classmates have green eyes?

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	about 7%

	[image: image19.wmf]  
	B.
	about 24%

	[image: image20.wmf]  
	C.
	about 31%

	[image: image21.wmf]  
	D.
	about 38%

	 


	Question 6 of 50

	Schnitzelwarters have flabelisms but never hordschwaggles. Flabelisms are workenstreds. Which of the following is true?

	 
	 
	 
	 
	 

	[image: image22.wmf]  
	A.
	All schnitzelwarters have hordschwaggles.

	[image: image23.wmf]  
	B.
	Flabelisms are hordschwaggles.

	[image: image24.wmf]  
	C.
	Schnitzelwarters do not have workenstreds.

	[image: image25.wmf]  
	D.
	Schnitzelwarters have workenstreds.
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	Which part of a scientific paper would be considered most crucial for another scientist to verify the discovery?

	 
	 
	 
	 
	 

	[image: image26.wmf]  
	A.
	the title

	[image: image27.wmf]  
	B.
	the purpose

	[image: image28.wmf]  
	C.
	the materials and methods

	[image: image29.wmf]  
	D.
	the review of literature 
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	Which of the following inventors is credited with inventing the first telescope?

	 
	 
	 
	 
	 

	[image: image30.wmf]  
	A.
	Hans Lippershey

	[image: image31.wmf]  
	B.
	Benjamin Franklin

	[image: image32.wmf]  
	C.
	Roger Bacon

	[image: image33.wmf]  
	D.
	Robert Hooke
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	What NASA program monitors deforestation rates of tropical rain forests?

	 
	 
	 
	 
	 

	[image: image34.wmf]  
	A.
	Landsat

	[image: image35.wmf]  
	B.
	Student Discovery Program

	[image: image36.wmf]  
	C.
	PlanetQuest

	[image: image37.wmf]  
	D.
	Doppler
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	A bio-engineer developed a process that produces more ethanol from corn than was previously possible. 

How is this helpful?

	 
	 
	 
	 
	 

	[image: image38.wmf]  
	A.
	It assists in increasing corn production.

	[image: image39.wmf]  
	B.
	It assists in increasing fuel production.

	[image: image40.wmf]  
	C.
	It helps corn plants adapt to changing conditions.

	[image: image41.wmf]  
	D.
	It helps people adapt to using less fuel.
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What roles does a mouse have in the food web?

	 
	 
	 
	 
	 

	[image: image43.wmf]  
	A.
	It is a consumer.

	[image: image44.wmf]  
	B.
	It is a consumer, and it is consumed by other animals.

	[image: image45.wmf]  
	C.
	It is a consumer and a producer.

	[image: image46.wmf]  
	D.
	It is a consumer and a decomposer.
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	In order of largest to smallest, parts of an ecosystem can be divided into __________.

	 
	 
	 
	 
	 

	[image: image47.wmf]  
	A.
	a community, population, and habitat

	[image: image48.wmf]  
	B.
	a population, habitat, and community

	[image: image49.wmf]  
	C.
	an environment, population and community

	[image: image50.wmf]  
	D.
	a habitat, community and environment
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	The number of organisms an ecosystem can support depends on energy available and __________.

	 
	 
	 
	 
	 

	[image: image51.wmf]  
	A.
	abiotic factors

	[image: image52.wmf]  
	B.
	systematic factors

	[image: image53.wmf]  
	C.
	unrelated factors

	[image: image54.wmf]  
	D.
	conditional factors
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	A ____________ is a loop of plasma extending from the sun's surface.

	 
	 
	 
	 
	 

	[image: image55.wmf]  
	A.
	sunspot

	[image: image56.wmf]  
	B.
	radiation drop

	[image: image57.wmf]  
	C.
	prominence

	[image: image58.wmf]  
	D.
	chromosphere
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	On a clear night, it may be possible to see Venus, Mars, Jupiter, or Saturn. 

To the unaided eye, these planets appear as points of light, but none of their moons can be seen without a telescope. 

Why is it that the planets can be easily seen, but their moons cannot?

	 
	 
	 
	 
	 

	[image: image59.wmf]  
	A.
	The moons are too small.

	[image: image60.wmf]  
	B.
	The moons are too hot.

	[image: image61.wmf]  
	C.
	The moons are too fast.

	[image: image62.wmf]  
	D.
	The moons are too careful.
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	Examine the diagram and determine what moon phase is occurring.

	 
	 
	 
	 
	 

	[image: image64.wmf]  
	A.
	new moon

	[image: image65.wmf]  
	B.
	crescent moon

	[image: image66.wmf]  
	C.
	quarter moon

	[image: image67.wmf]  
	D.
	gibbous moon
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	[image: image68.png]



What type tide occurs when the sun, Earth, and moon are in alignment with one another?

	 
	 
	 
	 
	 

	[image: image69.wmf]  
	A.
	Spring Tide

	[image: image70.wmf]  
	B.
	High Tide

	[image: image71.wmf]  
	C.
	Neap Tide

	[image: image72.wmf]  
	D.
	Low Tide
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	What does this diagram represent? 
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	[image: image74.wmf]  
	A.
	a lunar eclipse

	[image: image75.wmf]  
	B.
	a moon phase

	[image: image76.wmf]  
	C.
	a moon motion

	[image: image77.wmf]  
	D.
	a solar eclipse
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	The Sun heats Earth's surface unevenly. 

Which characteristic of the atmosphere is most affected by this unevenness?

	 
	 
	 
	 
	 

	[image: image78.wmf]  
	A.
	barometric pressures

	[image: image79.wmf]  
	B.
	atmospheric layers

	[image: image80.wmf]  
	C.
	composition of atmospheric gases

	[image: image81.wmf]  
	D.
	proportions of atmospheric gases
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	Cynthia was making a model of the ocean. To help her understand ocean currents she heated water with red food coloring to 85 °F, and carefully added it to a beaker half full of blue colored water at 36 °F. 

She noticed that the warm red water stayed on top of the cold blue water, even when she gently moved the beaker. 

Why did the warm water stay on top of the cold water?

	 
	 
	 
	 
	 

	[image: image82.wmf]  
	A.
	Warm water evaporates slower than cold water.

	[image: image83.wmf]  
	B.
	Warm water evaporates faster than cold water.

	[image: image84.wmf]  
	C.
	Warm water is less dense than cold water.

	[image: image85.wmf]  
	D.
	Warm water is more dense than cold water.
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	Tropical rainforests are located along the equator, where the climate produces more rainfall each year than in other locations. 

Which principle describes why tropical climates produce so much rain?

	 
	 
	 
	 
	 

	[image: image86.wmf]  
	A.
	Water is a universal solvent because of its molecular structure.

	[image: image87.wmf]  
	B.
	Water becomes less dense after it freezes which is why ice floats.

	[image: image88.wmf]  
	C.
	Water is necessary for several processes that occur inside all plant and animals species.

	[image: image89.wmf]  
	D.
	Water evaporates at a faster rate under warm conditions than it does under cold conditions.
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	The ocean contributes to the climate system by _________.

	 
	 
	 
	 
	 

	[image: image90.wmf]  
	A.
	collecting water

	[image: image91.wmf]  
	B.
	storing heat

	[image: image92.wmf]  
	C.
	evaporating water

	[image: image93.wmf]  
	D.
	releasing vapor
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	What type of energy is present in a lump of coal?

	 
	 
	 
	 
	 

	[image: image94.wmf]  
	A.
	biological potential energy

	[image: image95.wmf]  
	B.
	chemical potential energy

	[image: image96.wmf]  
	C.
	elastic potential energy

	[image: image97.wmf]  
	D.
	gravitational potential energy
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	When you drop a rubber ball from a high place, it will eventually stop bouncing. On paper explain why the ball will eventually quit bouncing.

When a pendulum stops swaying and is at rest, has it lost any energy? 

	 
	 
	 
	 
	 

	[image: image98.wmf]  
	A.
	Yes, no movement means no energy.

	[image: image99.wmf]  
	B.
	Yes, as the pendulum slows, it loses energy.

	[image: image100.wmf]  
	C.
	No, it possesses potential energy.

	[image: image101.wmf]  
	D.
	No, it never had any energy to lose.
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	On paper, explain how a chemical change can result in the release of heat energy.

Which of the following best describes what is happening in the picture? 

[image: image102.png]




	 
	 
	 
	 
	 

	[image: image103.wmf]  
	A.
	mechanical energy

	[image: image104.wmf]  
	B.
	chemical energy

	[image: image105.wmf]  
	C.
	sound frequency

	[image: image106.wmf]  
	D.
	heat transfer
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	It takes 50 Newtons of force to rake the leaves. They are raked for a total distance of 10 meters. How much work has been done?

	 
	 
	 
	 
	 

	[image: image107.wmf]  
	A.
	5 joules

	[image: image108.wmf]  
	B.
	50 joules

	[image: image109.wmf]  
	C.
	500 joules

	[image: image110.wmf]  
	D.
	5000 joules

	 


	Question 27 of 50

	When logs are burned in a campfire, a chemical reaction takes place between the carbon compounds that make up the log and the oxygen in the atmosphere. This chemical reaction releases heat. 

According to the law of conservation of energy, the chemical reaction _________. 

	 
	 
	 
	 
	 

	[image: image111.wmf]  
	A.
	creates energy

	[image: image112.wmf]  
	B.
	destroys energy

	[image: image113.wmf]  
	C.
	multiplies energy

	[image: image114.wmf]  
	D.
	transforms energy
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	Ellen hooked up a circuit of six speakers in her home theatre system. One year later, one of the speakers stopped working. The rest of the speakers continued to work, so it to her a few days to notice. 

What type of circuit was used to hook up the speakers in the home theatre system?

	 
	 
	 
	 
	 

	[image: image115.wmf]  
	A.
	parallel

	[image: image116.wmf]  
	B.
	series

	[image: image117.wmf]  
	C.
	short

	[image: image118.wmf]  
	D.
	tall
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	Look at the food web below. 

[image: image119.png]decom;osers

producers harbivores carmivares




Which of the following changes would cause the population of producers in this forest ecosystem to increase?

	 
	 
	 
	 
	 

	[image: image120.wmf]  
	A.
	a decrease in carnivores such as owls and fox

	[image: image121.wmf]  
	B.
	a decrease in decomposers such as bacteria and fungi

	[image: image122.wmf]  
	C.
	an increase in carnivores such as owls and fox

	[image: image123.wmf]  
	D.
	an increase in herbivores such as deer and rabbits
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	A population of birds eats a type of beetle that feeds on only one type of plant. Which of the following would most likely occur if millipedes that eat the same plant, but taste terrible to birds, entered the ecosystem?

	 
	 
	 
	 
	 

	[image: image124.wmf]  
	A.
	The bird population would increase.

	[image: image125.wmf]  
	B.
	The beetle population would increase.

	[image: image126.wmf]  
	C.
	The plant population would decrease.

	[image: image127.wmf]  
	D.
	The millipede population would decrease.
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	Fungi were originally classified as plants but later they were classified separately. Which of the following characteristics of fungi separates them from plants? 

	 
	 
	 
	 
	 

	[image: image128.wmf]  
	A.
	They only reproduce asexually.

	[image: image129.wmf]  
	B.
	They are able to grow in dry conditions.

	[image: image130.wmf]  
	C.
	They are unable to make their own food.

	[image: image131.wmf]  
	D.
	They can move from one place to another.
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	In the Triassic Period, gymnosperms dominated these terrestrial biomes.

	 
	 
	 
	 
	 

	[image: image132.wmf]  
	A.
	forests

	[image: image133.wmf]  
	B.
	grasslands

	[image: image134.wmf]  
	C.
	deserts

	[image: image135.wmf]  
	D.
	wetlands
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	Select the correct order of ecological succession.

	 
	 
	 
	 
	 

	[image: image136.wmf]  
	A.
	soil forms, lichens and mosses are present, legumes and grasses appear, shrubs, then trees grow

	[image: image137.wmf]  
	B.
	soil forms, grasses appear, lichens and mosses are present, trees form, shrubs grow

	[image: image138.wmf]  
	C.
	grasses appear, soil forms, lichens and mosses are present, shrubs and trees grow, legumes appear

	[image: image139.wmf]  
	D.
	soil forms, legumes appear, grasses grow, lichens and mosses are present, shrubs, then trees grow
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	Which color star has the highest surface temperature?

	 
	 
	 
	 
	 

	[image: image140.wmf]  
	A.
	blue

	[image: image141.wmf]  
	B.
	red

	[image: image142.wmf]  
	C.
	white

	[image: image143.wmf]  
	D.
	yellow
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	Use the picture to answer the question.
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	Which alignment of the Earth, Sun and Moon will cause the highest high tides? 

	 
	 
	 
	 
	 

	[image: image145.wmf]  
	A.
	P 

	[image: image146.wmf]  
	B.
	S 

	[image: image147.wmf]  
	C.
	Q and S

	[image: image148.wmf]  
	D.
	P and R
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	Use the picture to answer the question.

[image: image149.png]OO

o
® @& ® @
.
2





	 

	Which alignment of the Moon, Earth and Sun will cause high tides of the least height? 

	 
	 
	 
	 
	 

	[image: image150.wmf]  
	A.
	1 and 2 

	[image: image151.wmf]  
	B.
	2 and 3

	[image: image152.wmf]  
	C.
	2 and 4 

	[image: image153.wmf]  
	D.
	1 and 3
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	Use the picture to answer the question.
[image: image154.png]




	 

	The picture shows the Sun's path during different seasons. Which of these represent the correct order of seasons, as shown in the picture? 

	 
	 
	 
	 
	 

	[image: image155.wmf]  
	A.
	spring, winter, summer

	[image: image156.wmf]  
	B.
	summer, spring, winter 

	[image: image157.wmf]  
	C.
	winter, spring, summer 

	[image: image158.wmf]  
	D.
	spring, summer, winter
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	Why are cone-shaped trees found at higher altitude regions where there is a lot of snowfall?

	 
	 
	 
	 
	 

	[image: image159.wmf]  
	A.
	Trees require snowfall as a water source. 

	[image: image160.wmf]  
	B.
	The shape of the tree allows snow to slide off easily.

	[image: image161.wmf]  
	C.
	The soil at a higher altitude is more fertile than in the plains.

	[image: image162.wmf]  
	D.
	The nutrients required for growth are found only at high altitudes.
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	Which of these is the correct order of the layers of the atmosphere, starting from the earth's surface?

	 
	 
	 
	 
	 

	[image: image163.wmf]  
	A.
	troposphere, stratosphere, mesosphere, thermosphere, exosphere

	[image: image164.wmf]  
	B.
	stratosphere, troposphere, mesosphere, thermosphere, exosphere

	[image: image165.wmf]  
	C.
	mesosphere, troposphere, stratosphere, exosphere, thermosphere 

	[image: image166.wmf]  
	D.
	thermosphere, stratosphere, troposphere, mesosphere, exosphere
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	Which eclipse lasts longer?
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	A.
	a solar eclipse
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	B.
	a lunar eclipse
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	C.
	Both last the same amount of time.
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	D.
	It depends on the individual eclipse.
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	During a solar eclipse, where is the Moon positioned?

	 
	 
	 
	 
	 

	[image: image171.wmf]  
	A.
	between the Sun and the Earth
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	B.
	in the Earth's outer orbit
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	C.
	parallel to the solar plexus
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	D.
	the closest orbital position to the Sun
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	Heat from the Sun strikes Earth's atmosphere high above the surface of the planet. The heat is distributed down through the layers of the atmosphere in flowing currents of air. 

What is the name of the process that distributes heat through the atmosphere?
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	A.
	conduction
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	B.
	convection
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	C.
	radiation
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	D.
	transpiration
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	Your classroom barometer shows a decreasing barometric pressure over the last several hours. What does this most likely indicate?
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	A.
	Sunny, warm weather is on the way.
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	B.
	The remainder of the week should be hot and rainy.

	[image: image181.wmf]  
	C.
	There is unsettled or wet weather approaching.
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	D.
	A snowstorm is due to begin any minute.
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	The cloud and ground temperature is 30 degrees Fahrenheit but a layer of air between the clouds and ground is 38 degrees Fahrenheit. What type of precipitation is predicted?
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	A.
	rain
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	B.
	freezing rain
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	C.
	snow
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	D.
	hail
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	If the water temperature is increased, then the amount of salt that will dissolve in the water will also increase. In this hypothesis, what is the dependent variable?

	 
	 
	 
	 
	 

	[image: image187.wmf]  
	A.
	the amount of salt

	[image: image188.wmf]  
	B.
	the time it takes the salt to dissolve
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	C.
	the water temperature
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	D.
	the amount of water
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	Draw a conclusion based on the following information from Harpers Index, 2008: The probability that a person worldwide lacks adequate drinking water because of socioeconomic conditions is 1 in 6. Estimated portion of all freshwater drawn from U.S. sources each year that is used to cool power plants: 1/2 
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	A.
	More than 40% of people worldwide do not have access to adequate drinking water.
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	B.
	Power plants should consider using alternate methods or saltwater for cooling.

	[image: image193.wmf]  
	C.
	Power plants are not a factor of water shortage.
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	D.
	Providing power is a more important issue than a potential water shortage.
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	In science, precision is known as the degree of ________________.
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	A.
	reproducibility
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	B.
	accuracy
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	C.
	veracity
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	D.
	correctness
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	Ms. Samuels gave her science class an assignment to design a compound machine that can perform a task, but that does not use electricity or fuel. Once students produced several designs, they would work in pairs to develop a working prototype. 

Marta and Sibyl chose to make a sewing machine that would use a foot pedal to power the machine.

	 

	The first prototype of the sewing machine used a rope and pulley to connect the foot pedal to a wheel that moved the sewing needle up and down. When Marta tested the machine for the first time, the rope moved, but it would not turn the wheel. 

What should Marta check first?
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	A.
	the color of the rope
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	B.
	the tension on the rope
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	C.
	the composition of the rope
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	D.
	the knot in the rope
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	Infrared sensors, certain forms of chemotherapy, and land mine removal explosives are all frequently used technologies that were discovered by _____________________________________________.
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	A.
	NASA and originally used for the space program
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	B.
	the USGS and used for geological studies
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	C.
	the FBI and used for crime investigations
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	D.
	ancient Egyptians and used throughout history
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	__________ occurs when water condenses from a gaseous state and falls to the Earth.
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	A.
	A cloud
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	B.
	Precipitation
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	C.
	Wind
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	D.
	Fog
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